Reduced Row Echelon Form

Example
Find the Reduced Row Echelon of the given matrix A:
n= A= {{2, 4, 6, -6, 0, 0, 0},
{3, -5, 3, -3, 1, 0,0}, {4 9, -4, 4,0 -1, 0}, {0, 1, 0, 0, 0, 0, 1}};
A/
Mat ri xFor m

Out[2])//MatrixForm=

24 6 -6 00 O
3 -53 -310 O
49 -44 0 -10
01 0 O 00 1

n@= ReducedA = RowReduce[A];
ReducedA // Matri xForm

Out[4]//MatrixForm=

3 35
1000 0 -5 -3
0100 00O 1
1 1
001 -10 & 45
3
0000 1 3 5

insl=  Matri xRank [A]

Out[5]= 4

= Nul | Space[A]

oufel= {{35, -16, -1, 0, -182, 0, 16}, {3, 0, -1, O, -6, 16, O}, {0, O, 1, 1, O, O, O}}

In case that we would like to compute the Reduced Row Echelon form of the augmented matrix for Ax = b:



2 | rowechelonform.nb

In[7]:= b = {{11}, {11}v {12}1 {4}};
b // Matri xForm

Out[8]//MatrixForm=

11
11
12
4

= AugnmentedMatrix = Join[ A b, 2];
Augrent edMatri x // MatrixForm

Out[10]//MatrixForm=

24 6 -6 00 0 112
3 -53 -310 0 11
4 9 -4 4 0 -1 0 12
01 0 O OO0 1 4

n11:= RowReduce[AugnentedMatri x] // Matri xForm

Out[11]//MatrixForm=

3 35 a1
100 0 16 16 8
010 0 0 1 4

1 1 7
00 -1 0 e = 5

3 175
00 0 0 1 5 = T



